TH6EE
EANERNZFES

IR AK2%E 474,158, 000
X H#EE 354, 246, 000
= 5l 119,912, 000

fAzEiEA RKirmEHFREZRULEGES



(Bfs - F)

TR FEE | BEE | oo I
A rEE | pEm | T Lo B
SHEILA 1, 100, 000 1, 100, 000 0

\%EMM 1,100, 000 1, 100, 000 0
SHESIRA 380, 000 380, 000 0
‘ﬁ?ﬂﬁ”ﬂ]\ 380, 000 380, 000 0
FHEIA 700, 000 700, 000 0
‘%Bﬁﬁ”ﬂ]\ 700, 000 700, 000 0
BEEBWMBHEIMA 60, 748, 000 60, 904, 000 A156, 000
AR URA 56, 668, 000 56, 904, 000 A236, 000
HEREEHEULA 4,080, 000 4,000, 000 80, 000
ZEDWA 248, 778,000| 245, 943, 000 2, 835, 000
2R ULA 173,616,000 177,344,000 A3, 728,000
llj% XZEEEIRA 48, 454, 000 47, 399, 000 1, 055, 000
h#tiHZEEINA 26, 708, 000 21,200, 000 5, 508, 000
NEERBREZIA 33, 670, 000 34, 950,000 AT, 280, 000
FEENEHILA 0 3,950,000 A3, 950,000
EENEZIENERIULA 21,670, 000 19, 000, 000 2,670, 000
NEEFM - BEAFIERSEZEINA 12, 000, 000 12, 000, 000 0
ZHAERLTINA 591, 000 644, 000 Ab3, 000
‘%Hﬂ*‘]%@ﬂé’lﬁ”i)\ 591, 000 644, 000 Ab53,000
ZFDbDURA 2, 250, 000 2, 250, 000 0

i ZAHHEEILA 150, 000 150, 000 0

% REULA 2,100, 000 2,100, 000 0

I EEFTEAG ) 348, 217,000 346, 871, 000 1, 346, 000

% A& H 253, 408, 000| 247,010, 000 6, 398, 000

llil ‘Hﬁféff\ﬁﬂiﬂj 79, 150, 000 79, 150, 000 0

BT EHREXH 103, 350, 000 103, 460, 000 A110, 000
FEEHBEKRSZH 44, 266, 000 41, 350, 000 2,916, 000
mERE EXH 9, 960, 000 8, 000, 000 1, 960, 000
EERMEXH 16, 142, 000 14, 550, 000 1,592, 000
BT EE S H 540, 000 500, 000 40, 000
EEEIH 49, 700, 000 50, 444, 000 AT744, 000
FEEHEIH 2,152,000 2,152,000 0
HBREET 24, 600 24, 600 0
b REXEEXH 50, 000 50, 000 0
Hi HERERREXEH 4,207, 400 4,120, 400 87,000
FI1R| 8 A& 37 H 1, 080, 000 1, 080, 000 0
EfEE T H 279, 000 214,000 65, 000
EIEEMEXH 2,030, 000 2,180, 000 A150, 000
SEEIH 20, 000 20, 000 0
R TEIH 32,181, 000 32,147,000 34, 000
HR=FHSZH 160, 000 310, 000 A150, 000
FHF T 56, 000 181, 000 A125,000
REEH ST 170, 000 170, 000 0
EEREZE 7,090, 000 7,595, 000 Ab505, 000
EXTTE=§du] 200, 000 200, 000 0
EHELH 40, 857, 000 41, 333, 000 A476, 000
‘*E*'JEEE%B‘EHJ‘ 422,000 427,000 A5, 000




(BfL - M)

BEF B KEE | AIEE —_— -

e/ TEsE | pEsm | U
REXEEXH 272,000 264, 000 8, 000
FHEAREXZ H 602, 000 622, 000 220,000
EIEHEREREH 3,941, 000 4,359, 000 A418, 000
RIS ARE T 200, 000 400, 000 2200, 000
KBS EE X H 7, 140, 000 7, 200, 000 A60, 000
EiEE X H 1, 840, 000 660, 000 1,180, 000
EIEEREH 2,491,000 2,642,000 A151, 000
=EEXH 10, 000 10, 000 0
ILRE Xz E 2,870,000 3,040, 000 A170, 000
EBRRERZH 4,290, 000 4,230, 000 60, 000
R ZH 3,315, 000 3,185, 000 130, 000
FHR 254,000 242,000 12,000
FREEH 2 H 705, 000 720, 000 A15,000
EfEHzE 1, 680, 000 1, 840, 000 A160, 000
tTih - EMEEHEH 252,000 252,000 0
FEFR AR H 10, 223, 000 10, 890, 000 A667, 000
S EX 200, 000 200, 000 0
MeEXH 150, 000 150, 000 0
HRASERISEEE 4,080, 000 4, 000, 000 80, 000
‘—EQ%%EE%‘$$¥§ 4,080, 000 4,000, 000 80, 000
SESXH 420, 000 420, 000 0
‘ﬁ?ﬂﬁiﬂj 420, 000 420, 000 0
Bhpk &3 1, 300, 000 1, 000, 000 300, 000
‘Bﬂﬁiﬁiﬂj 1, 300, 000 1,000, 000 300, 000
p=Eick b 2] 120, 000 120, 000 0
‘ﬁ?ﬂﬁiﬂj 120, 000 120, 000 0
FBEFHIHE Q) 349, 885, 000 344, 3217, 000 5, 558, 000
FEFBESWFZEFQ)=(1)-2) A1, 668,000 2,544,000 A4, 212, 000
a (U ) E SR B S AR AT (4) 0 0 0

% A

{5 BEE&EERSIH 788, 000 2,488,000 AT, 700,000
lg:i ARV EREEXH 623, 000 2,323,0001 AT, 700,000
%'If' V2 bz 7RGEE 165, 000 165, 000 0
Iy MR mE WA B) 788, 000 2,488,000 AT, 700,000
B mEESINZELE (6)=(4)-05) A788,0001 A2, 488,000 1, 700, 000
Y—ERARHBERARIA 3, 650, 000 3, 650, 000 0
o%)“))\l ‘*)‘—EXIZ?:‘F&%;’E)\%HI)\ 3, 650, 000 3, 650, 000 0
th Z DD FEBIRAEE (7) 3, 650, 000 3, 650, 000 0
5%)_ BEIEEXH 0 5,000,000 AS5, 000, 000
?f_l ‘ﬁn‘:ﬂ: - EREBLEESEH 0 5,000,000 A5, 000, 000
I: f.;; Y—ERRSBERASTH 3,573,000 3, 650, 000 AT7,000
ﬁ ‘ﬂ—t“xlzﬁfaﬁ-’ﬁ":%lﬁi’iﬂj 3,573,000 3,650, 000 AT7,000
52 Z DD FEBNZ HET (8) 3,573,000 8,650,000 AS5, 077,000
ZDDFEBE SN EEE (9)=(7)-(8) 77,000| A5, 000, 000 5,077,000
FlaE i (10) 0 0 0
L ESINZEEEE A2,379,000] A4, 944,000 2, 565, 000

(11)=(3) +(6)+(9)- (10)




(Bfsz - M)
BERE REE | B
B | AFE | e 5 5
[ e TEE | pEsE
BRI ELES (12 122,291,000 130, 868, 000| A8, 577, 000
LRI ESES (11)+(12) 119,912,000 125,924,000 A6,012, 000




TH6EE
AREUAFTENZFES

B ANARER
ENEESZX

IR AK2%E 10, 380, 000H
X H#EE 8,737,000M
= 5l 61,643, 000

fAzEiEA RKirmEHFREZRULEGES



HERUEE - FAKRE - EAEESEE (B : M)
EEFRH REE AT E . —r
A s | pug | TR BB

SEIRA 1,100,000| 1,100,000 0
T 1,100,000f 1,100,000 0
SHESIRA 380, 000 380, 000 0
by ESITA 380, 000 380, 000 0
M B ERLON 500, 000 500, 000 0
Al swama 500, 000 500, 000 0
Z DDA 2,250,000 2,250,000 0
= ABHEEIRA 150, 000 150, 000 0
HURA 2,100,000 2,100, 000 0
EEFHIMAG (1) 4,230,000 4,230,000 0
ABEXZH 4,120,000 4,100,000 20, 000
IBIEBEHS I 3,100,000/ 3,100, 000 0
EEHBEREZH 500, 000 500, 000 0
SRR E X 520, 000 500, 000 20, 000
EEETH 220, 000 220, 000 0
EEREBRAEXH 100, 000 100, 000 0
ELf b 120, 000 120, 000 0
EHEEXH 4,157,000] 2,957,000 1,200,000
EREE B 15,000 15, 000 0
i MREBEXH 50, 000 50, 000 0
g BHERI R B X H 50, 000 50, 000 0
5:: EHEERBXH 200, 000 200, 000 0
3 ENRISUAE 3 50, 000 50, 000 0
"il KB S B X 350, 000 350, 000 0
B X 1,500, 000 300,000( 1,200, 000
%| EEEREXH 100, 000 100, 000 0
Hl smmzw 10, 000 10, 000 0
IR 250, 000 250, 000 0
EBERBEIH 400, 000 400, 000 0
BRSER R 300, 000 300, 000 0
FHH I 50, 000 50, 000 0
BRI 100, 000 100, 000 0
BRI 100, 000 100, 000 0
+ih - EMESHEH 252, 000 252, 000 0
b UNS S 80, 000 80, 000 0
SO B 200, 000 200, 000 0
HeBmXH 100, 000 100, 000 0
SESFH 120, 000 120, 000 0
RS % 120, 000 120, 000 0
=Fiik b da] 120, 000 120, 000 0
aEe % 120, 000 120, 000 0
EETHTHEH Q) 8,737,000] 7,517,000 1,220,000
EEZHESRTEE)=(1)-() 4,507,000 A3, 287,000] A1,220,000




HEBUEE - FALRE - FANEESE (B : M)
EERB AKEE | BIEE
o | s BA
At TEE | TEsm

ME(UR| HE R R FURA G (4) 0 0 0
S%(A

=

164 fiEta e S 6) 0 0 0
I%" H

%E BREREALNEEE 6)=1)-6) 0 0 0
I

B

2 |v—ezxEsm@AsmA 3,650,000 3,650,000 0
@“}f b — £ X RASBEASIIA 3,650,000 3,650,000 0
Z).:‘. ZOMOESRAE () 3,650,000 3,650,000 0
B |moaesm o| 5,000 000 A5 000,000
LE% e - EwETEE o 5,000 000[ A5 000,000
3| |zoioEsEHst©) o/ 5,000,000 AS5,000,000
HA]

T zotoEBnESREEE9)=1D)-©) 3,650,000 AT1,350,000] 5,000,000
L (10) 0 0 0
LA SNTEEAS 857,000 A4, 637,000] 3,780,000

(1)=(3)+(6)+(9) - (10)

MR LTSRS (12) 62,500,000] 62,500, 000 0
LEMETIESBE (11)+(12) 61,643,000 57,863,000] 3,780,000




TH6EE
AREUAFTENZFES

EANARED
Hhig R R B IR S

*

il

IR AK2%E 56, 668, 000M
X H#EE 56, 668, 000M
= 5l 0M

fAzEiEA RKirmEHFREZRULEGES



HEBUEE - ZAKRE - i B FEIRIES % (Bfz - /M)
B FEE | BFE | L,
A s | pum | PR sl
SRERBHSIA 56,668,000] 56,904,000]  A236,000
"}f HENETN 56, 668,000]  56,904,000]  A236,000
EEEBILAE (1) 56,668,000]  56,904,0000  A236,000
ABEXH 48,664,000] 48,900,000  A236, 000
B A S 35,000,000 35,000,000 0
EAREGS X 10,100,000 9, 650, 000 450, 000
SRS 053 1,704,000  2,500,000]  A796, 000
SRR AR 1,480,000| 1,400,000 80, 000
VEELIE S 5 R 380, 000 350, 000 30,000
B 3,622,000] 3,622,000 0
HBS I 100, 000 100, 000 0
REXBE L 30, 000 30, 000 0
HEREBRELH 2,112,000 2,112,000 0
= | pRaszzs 300, 000 300, 000 0
;% IsEx 50, 000 50, 000 0
'*ih: B ERE R 1,000,000| 1,000,000 0
Ll iz 30, 000 30, 000 0
f‘;’l g g % 4,382,000] 4,382,000 0
X | lEnEsmzm 60, 000 60, 000 0
REXBE L 25,000 25,000 0
BHETR S B X 111, 000 111,000 0
EEERREXH 431,000 431,000 0
KB RE X 800, 000 800, 000 0
B ERE R 500, 000 500, 000 0
B 650, 000 650, 000 0
*HEREHLH 900, 000 900, 000 0
(RSP 3H 500, 000 500, 000 0
R 25,000 25,000 0
(RIS 80, 000 80, 000 0
S 300, 000 300, 000 0
EEEBXHE Q) 56,668,000 56,904,0000  A236,000
FEFBESWIZEEQ)=(1)-2) 0 0 0
ME(UR| R R FURA G (4) 0 0 0
B
{it[Sz | Re R B il S S 5 (B) 0 0 0
i
% BB HEEERITZELE6)=4)-B) 0 0 0
Ui
B3




HEBUEE - FAKRE - BB TS ZIEEE (B - )
[—T pr v
= |
BEEEB ZISE.EJE% HJEJE% ot 2 o
At TEE | TEsm
Zw) = D fth > EEIRA S (T) 0 0
DA
fth
DX FDthDFESZ HE (8) 0 0
% H
5:: ZDHMDFHESINZEE9)=(-®) 0 0
%
FiE 3 (10) 0 0
LHME I EEESEH 0 0
(11)=(3)+(6) +(9) - (10)
AR ESES (12) 0 0
LRI ESRS (11)+(12) 0 0




THI6FE

HEEUEXINZTEE
EARER
HREERTEETE

IR AK2%E 4,080, 000M
X H#EE 4,080, 000M
= 5l 0M

fAzEiEA RKirmEHFREZRULEGES



HEBUEZE - FAKRE - HRAZEROEEE (Bfsz : M)
BEF B E BIERE X _
AEE | FIFE | g S
At TEE | TEE
* BEREHEBSINA 4, 080, 000 4,000, 000 80, 000
S ll))\l HESZEERHEULA 4,080, 000 4,000, 000 80, 000
% BEFHIRAG ) 4, 080, 000 4,000, 000 80, 000
5:: HREERI)EEEE 4, 080, 000 4, 000, 000 80, 000
) % ‘—ﬁﬁgﬁﬁﬂﬁ\ﬁ%%% 4,080, 000 4,000, 000 80, 000
AR BETHZHE () 4, 080, 000 4, 000, 000 80, 000
BEEHARINEEEG)=1)-(2) 0 0 0
|| 2% B (e AR AT (4) 0 0 0
A
5
[ e S L Et (5) 0 0 0
l%_ H
%E BB RS AL INEEE (6)=)-(5) 0 0 0
I
%
| = oo EEURA ST (7) 0 0 0
oA
it
DI FDthdEEZ HE (8) 0 0 0
g H
E ZOBOEBHESINEELE(9)=(1)-®) 0 0 0
3
T @HELH (10) 0 0 0
LA NT LA 0 0 0
(11)=(3)+(6)+ (9) - (10)
BT AL B (12) 0 0 0
LR THELEE (1)+(12) 0 0 0




TH6EE
AREUAFTENZFES

EANARED
i fRit EEEEFE

IR AK2%E 24,005, 000H
X H#EE 858, 000H
= 5l 23,147, 000H

fAzEiEA RKirmEHFREZRULEGES



HRBIEE EAKE - BRI S B R (i : )
— —
B)EH B PEE | BEE | s 35
Al TEE | THE
SHABRESSINA 576, 000 576, 000 0
R Ennpmusin 576,000 576,000 0
EEEBILAE (1) 576, 000 576, 000 0
B 173,000 173, 000 0
HBS I 100, 000 100, 000 0
ERBERREZH 50, 000 50, 000 0
RIS A 2 3 H 20, 000 20, 000 0
E= F #k 3,000 3,000 0
;% EBRLH 635, 000 635, 000 0
?1: B RR R 50, 000 50,000 0
Ll EEEmaxs 100, 000 100, 000 0
,ﬁ’zﬂj IRERE 150, 000 150, 000 0
X | enzmmzwm 50, 000 50,000 0
{RPRI 75,000 75, 000 0
(RIS 90, 000 90, 000 0
R 120, 000 120, 000 0
B i 50, 000 50, 000 0
e %t 50, 000 50, 000 0
EEEBXHE Q) 858, 000 858, 000 0
EEEHRSINFEEG)=()-Q) A282,000]  A282,000 0
ME(UR| R R FURA G (4) 0 0 0
£
{it[Sz | Re R e il S 5T (B) 0 0 0
=i
% BB HEEERITZELE6)=4)-0) 0 0 0
Ui
b1
2| z oo zER A (7) 0 0 0
DA
ftb
DX DD FEB I HE (8) 0 0 0
% H
E ZOMDEDRESINEESE9)=(1-(8) 0 0 0
%
F % (10) 0 0 0
LA DI R EAE A282,000]  A282,000 0
(11)=(3)+ (6) +(9) - (10)
AR LI E S (12) 23,429,000] 23,429,000 0
LR TR SRS (11)+(12) 23,147,000] 23,147,000 0




TH6EE
AREUAFTENZFES

B ANARER
ZEREFERSTYRY FU—U8IEEXE

IR AK2%E 32,337,000
X H#EE 32,337,000
= 5l 0M

fAzEiEA RKirmEHFREZRULEGES



HEBUEER - ZALXE - EEEFERFY Y FO—JRIEEX (B2 A[)

BT E REE | BEE | .
A, youm | yum | TOE #
ZESIA 32, 337, 000 32, 337, 000 0

llj'l\l MZERIRA 32,337,000 32,337,000 0
FEFHRAEA) 32, 337, 000 32,3317, 000 0
ABHEXH 26, 210, 000 24,710, 000 1, 440, 000

B A S 4,800,000] 4, 800, 000 0
IEEBEREXZH 18, 590, 000 17, 670, 000 920, 000
& ERFIE X H 2,820, 000 2,300, 000 520, 000
FEEXH 584, 000 724, 000 A140, 000
HEREREREXS 80, 000 100, 000 A20,000
FNRIE A&7 H 50, 000 50, 000 0
EEEXH 24,000 24,000 0
BIEEMREZ L 380, 000 500, 000 2120, 000
EfeH 50, 000 50, 000 0

i EHREXH 5, 443, 000 6, 243, 000 A800, 000

& | s 63, 000 63, 000 0

5::32 HRE BB X 10, 000 10, 000 0

3 H FHERRE X H 20,000 20,000 0

llil EEHEREXD 300, 000 600, 000 A300, 000

KBS EE X H 550, 000 550, 000 0
BIEEMREZ L 60, 000 100, 000 240,000
ILRE X E 200, 000 200, 000 0
EBRRERZH 400, 000 500, 000 2100, 000
R ZH 540, 000 800, 000 A260, 000
FEF I 10, 000 10, 000 0
FREEH 2 50, 000 50, 000 0
EfEHzE 300, 000 400, 000 2100, 000
EEE SN ) 2,940, 000 2,940, 000 0
AL 100, 000 100, 000 0
‘ﬁ\?ﬂﬁfiﬁ 100, 000 100, 000 0
FEEFHIHE Q) 32, 337, 000 31,837, 000 500, 000

FBETHESNWMZEEB)=>(1)-2) 0 500, 000 A500, 000

R | 2% B e AR AT (4) 0 0 0

g A

fia[3z | sk 2 il % S i st (5) 0 0 0

I%_ H

LlEnspss ez ©)=-0)-6 0 0 0

i

b1

Zix| = it ;ESUR A () 0 0 0

D|A

fth)

()] Y—ERRSBERASTH 0 500, 000 A500, 000

2| b_cxmammrez ol 500,000  A500.000

5:: Z DD EET HE (8) 0 500, 000 A500, 000

quz ZDHMODFEEE U EZF(9)=(1)-(8) 0 A500, 000 500, 000

B2

F B (10) 0 0 0




HATILSR - EAKHE - BEEERT YA FO— s MAFR (st @)
BT REE | R
e rum | yum | T i
LYEEIMEEAF 0 0 0
(11)=(3) +(6)+(9)- (10)
AR L ERES (12) 0 0 0
LPERZLEEES (11)+(12) 0 0 0




TH6EE
AREUAFTENZFES

EANARED
ERRITEX

IR AK2%E 15,215, 000
X H#EE 1, 345, 000
= 5l 13, 870, 000

fAzEiEA RKirmEHFREZRULEGES



HEBUEZE - FAKRE - EERITEE (Bfsz : M)
BhERB AKEE | piEE . _
B BEE | s S
At TEE | TEE
FHEIMA 200, 000 200, 000 0
‘%Bﬁﬁ”ﬂk 200, 000 200, 000 0
llll ZIAERYDINA 15, 000 18, 000 A3, 000
‘%Hﬂ*ﬂ%ﬁﬂé’lﬁﬂl)\ 15, 000 18, 000 A3, 000
* BEFHIRAG ) 215, 000 218, 000 A3, 000
S FEEENLH 50, 000 0 50, 000
g EEEEELETH 50, 000 0 50, 000
5:: EHEXH 45, 000 45, 000 0
) EISHELEXH 10, 000 10, 000 0
| mmmmns 5, 000 5, 000 0
FEE I 30, 000 30, 000 0
BIR &3 1, 250, 000 950, 000 300, 000
‘Eﬁﬁ'iﬁiﬁ 1, 250, 000 950, 000 300, 000
BETHZHE () 1, 345, 000 995, 000 350, 000
EEITHEDWMIZETFQ)=1)-(2) A1,130, 000 AT11, 000 A353, 000
R | 2% B e AR AT (4) 0 0 0
%[ A
£
[ e S Et 5) 0 0 0
I%_ H
%E BB RS AL INEEE (6)=)-(5) 0 0 0
I
B3
| = oo EEURA ST (7) 0 0 0
DA
fth)
DI FDthdEEZ HiE (8) 0 0 0
% H
E ZOMDEHE ST EE 9)=(D-®) 0 0 0
b
X H (10) 0 0 0
LHESNZEESE A1,130, 000 ATT1, 000 A353, 000
(1)=(3)+(6)+(9) - (10)
BRI ELEERS (12) 15, 000, 000 15, 030, 000 A30, 000
LHRTIWEEES (11)+(12) 13, 870, 000 14, 253, 000 A383, 000




THI6FE

AREUAFTENZFES
B ANARER
HALASIEF—EEE

IR AK2%E 11, 227, 000M
X H#EE 11, 227, 000M
= 5l 0M

fAzEiEA RKirmEHFREZRULEGES



HEBUEE - ZARE - HDALASIE—EE%E (Bfz - /M)
— -
Bt B PEE | EE | e B 5
A TULE | TELE
ZESIA 11, 2217, 000 6, 180, 000 5, 047, 000
ll))\l M RZESURA 11, 227,000 6, 180, 000 5,047,000
BEFHIRAG ) 11, 2217, 000 6, 180, 000 5, 047, 000
ABHEXH 9, 400, 000 4,700, 000 4,700, 000
BB ERESZH 6, 200, 000 3,100, 000 3, 100, 000
FEHBEKREZE 2,100, 000 1, 050, 000 1, 050, 000
& ERFIE X H 1,100, 000 550, 000 550, 000
FEEENLH 571, 000 465, 000 112, 000
REXEEXH 20,000 20, 000 0
HEREREREXDE 137, 000 100, 000 37,000
i ﬂ@ﬁ‘é%}iﬁ 150, 000 75, 000 75, 000
% FEF I 0 125, 000 A125, 000
L':: EfeH 270, 000 145, 000 125, 000
) é EHERH 1, 250, 000 1,015, 000 235, 000
B | raxanss 20,000 20,000 0
HEMEEZ 15, 000 15, 000 0
EISEHEREREH 250, 000 195, 000 55, 000
KELBEZ 400, 000 300, 000 100, 000
EIEEREH 130, 000 130, 000 0
XBETEXZLE 250, 000 200, 000 50, 000
R=FH X H 150, 000 130, 000 20, 000
FEF I 10, 000 0 10, 000
R F 25,000 25, 000 0
FEEFHIHE Q) 11, 2217, 000 6, 180, 000 5, 047, 000
BEZHELNEEER)=1)-) 0 0 0
R | 2% B e AR AT (4) 0 0 0
%)\
fim| Sz | SR B S S ET (B) 0 0 0
l%_ H
LlEsepsacnzzE©)-0-6 0 0 0
i
%
Zix| = it ;ESUR A () 0 0 0
D|A
i
D[Z| = nitDESZ i (8) 0 0 0
[
A oRr R NRERO-0)-© 0 0 0
%
F B X (10) 0 0 0
LHESINKEEAT 0 0 0
(11)=(3)+(6) +(9) - (10)
HIERILESBE (12) 0 0 0
SRS (11)+(12) 0 0 0




TH6EE
AREUAFTENZFES

EARER
Wi EIEZIEr A —F%

IR AK2%E 52,633, 000M
X H#EE 52,633, 000M
= 5l 0M

fAzEiEA RKirmEHFREZRULEGES



HEBUEE - EFARD - HBAEXEL Y —F% (B : M)
EEFRH REE AT E e 2 .
A e | pam | BHE BB
SHESIA 52,633,000  51,620,000] 1,013,000
"}f 52,633,000 51,620,000 1,013,000
FEFHINAG (1) 52,633,000  51,620,000] 1,013,000
AGEZH 40, 980, 000 40, 800, 000 180, 000
\aﬁéfﬁaaﬁﬂfszaj 20, 000,000| 20, 000, 000 0
BB ARSI 18,000,000| 18,000, 000 0
EREHBERS I 1,200,000/ 1,200,000 0
EEERE X 1,780,000] 1,600, 000 180, 000
FLEXH 6,410,000 6, 370, 000 40, 000
ST 180, 000 180, 000 0
EEBEEREXH 300, 000 260, 000 40, 000
EES S 110, 000 110, 000 0
S HEE 3 50, 000 50, 000 0
BIEEME I H 100, 000 100, 000 0
LHEREXH 5,577,000] 5,577,000 0
i FRE X H 3,000 3,000 0
2| s 20,000 20,000 0
5:: B H 70, 000 70, 000 0
3 ’Hﬁ EHREXH 3,400,000(  2,380,000[ 1,020,000
R | mEnmems 50, 000 50, 000 0
MBI BE X W 35, 000 35, 000 0
HHEM R E X H 55, 000 55, 000 0
EHEERBETH 420, 000 300, 000 120, 000
K E BB 3 800, 000 500, 000 300, 000
BISEME I H 300, 000 300, 000 0
B X H 300, 000 300, 000 0
LHEEREXH 500, 000 300, 000 200, 000
RFRIXH 700, 000 300, 000 400, 000
FHEXH 10, 000 10, 000 0
RIEH X H 50, 000 50, 000 0
EEEXH 180, 000 180, 000 0
SESXH 70, 000 70, 000 0
RS % 70, 000 70, 000 0
FL£ZHIHE Q) 50, 860, 000) 49,620,000 1, 240, 000
FLEEHELIMEEEOG)=1)-Q) 1,773,000)  2,000,000]  A227,000
e[ | e B S U A ST (4) 0 0 0
S
B |EegEmEsxt 300,000  2,000,000] A1,700,000
,%zﬁ BERUERREXH 300,000  2,000,000] A1,700,000
% MERERHEXHE©G) 300,000  2,000,000] A1,700,000
"321 RS ESINTELE (6)=14)-©6) A300,000] A2,000,000] 1,700,000




HEBUAEE - EALRE - HHAFEZIBEL 2 —FX

(BfL - M)

B B $EF WEF ot 2 o
A TEE | pEsE

Z|Un| = D ithd FBIRAE (7) 0 0 0
DA

% H—EXRSERA S 1, 473, 000 0] 1,473,000
% % b — E R SRHEA S K 1,473,000 ol 1 473 000
E Z DD EBI HiEH (8) 1, 473, 000 0] 1,473,000
2|z 0th;EEERINZEEE (9)=(7)-(8) A1, 473,000 0| AT1,473,000
£

T & 3 (10) 0 0 0
HHESINTEEES 0 0 0

(11)=(3) +(6) +(9)- (10)

AR X E SRS (12) 0 0 0
MR ZILVEERS (11)+(12) 0 0 0
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MEFHBESEX
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HEBUFZE - ZFAKRE - NEFHBEESHE (Bfz - /M)
— —
HEHH IR PR | e B @
Al TEE | THE
SHSIA 6,600,000( 6,000, 000 600, 000
"}\z HZHELINA 6,600,000] 6,000,000 600, 000
EEEBILA (1) 6,600,000/ 6,000, 000 600, 000
AR 5,412,000]  3,550,000] 1,862,000
UREERLE M5 S 3,140,000 3,000,000 140, 000
SEREBERE T 1,632, 000 ol 1,632 000
SRR 480, 000 400, 000 80, 000
VEEEHE B 5 160, 000 150, 000 10, 000
EEHXH 919, 000 919, 000 0
HHEXH 700, 000 700, 000 0
HEBEBRRIH 50, 000 50, 000 0
s s 5,000 5,000 0
E: B IS E B S 50, 000 50, 000 0
;% BRI 84, 000 84, 000 0
?Zj EEE X 30,000 30,000 0
Kl | Emax 269, 000 269, 000 0
DIt iarm s 7,000 7,000 0
X | wemEnzmw 10, 000 10, 000 0
FHER R i 1,000 1,000 0
S ERRETH 30, 000 30, 000 0
KB BT S 90, 000 90, 000 0
s s 10, 000 10, 000 0
IS ERE S 10, 000 10, 000 0
2 BRI 60, 000 60, 000 0
e 30, 000 30, 000 0
F o S 1,000 1,000 0
RIS 10, 000 10, 000 0
BT 10, 000 10, 000 0
EEEHRHE Q) 6,600,000 4,738,000 1,862,000
EZIDESIEEEB)=1)-2) o| 1,262,000] A1,262, 000
ME(UR| R R FURA G (4) 0 0 0
B
{it[Sz | Re R B i S 5 (B) 0 0 0
HiH
% EREREEESNZEZEH6)=(4)-(5) 0 0 0
Ui
B
Z U] F Do ;EEURAG (T) 0 0 0
DA
1th
0| |r—exEsm@ASEH 0 500,000/  A500, 000
%% b — £ R RSRHEA S Z 0 500,000f  A500, 000
E Z DR DEB K HiE (8) 0 500,000  A500, 000
“%)31 ZOBOEBESINTERE 9)=(1)-O) 0|  A500,000 500, 000
B
FRHELH (10) 0 0 0
LIMESNKEESEH 0 762,000{  A762,000

(11)=(3) +(6)+(9)- (10)




HRTEABE - EAAE - MEFHHEEE T
T FEE | EE
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BRI ELES (12 8, 000, 000 1, 347, 000 653, 000
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X H#EE 33, 780, 000H
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HERUEE - ZFAKRE - NEFHIIESE (B : M)
B e B AEE | WFEE | o,
A s | pug | TR sl
NERBREEIRA 33,670,000|  31,000,000] 2,670,000
| BENEIENEERA 21,670,000( 19,000, 000] 2,670,000
A s - BasEzEeaEERA 12,000,000| 12, 000, 000 0
EEFHIAG ) 33,670,000 31,000,000] 2 670,000
A B 4,620,000]  1,950,000] 2,670,000
FEEHBEHREX 4, 470, 000 1,800,000 2,670,000
SRR B R 150, 000 150, 000 0
HEEXH 26,345,000 26,345, 000 0
EHEIH 20, 000 20, 000 0
EiERERREXH 130, 000 130, 000 0
BIEERE R 100, 000 100, 000 0
¥BEREIH 26,000, 000[ 26, 000, 000 0
ARSFH H 10, 000 10, 000 0
F S S H 5,000 5,000 0
E: R K 20, 000 20, 000 0
;% BRI S H 10, 000 10, 000 0
?Zj EEE X 50, 000 50,000 0
k| | 827, 000 827, 000 0
ﬁ% BREE BT 10, 000 10, 000 0
X | wemEnzmw 5, 000 5,000 0
THER R E I H 80, 000 80, 000 0
EH RSB 50, 000 50, 000 0
UKIE N EAE S 130, 000 130, 000 0
45 % 3 20, 000 20, 000 0
BIEE R S 72, 000 72, 000 0
¥BEREIH 100, 000 100, 000 0
ARSFH H 90, 000 90, 000 0
F S S H 10, 000 10, 000 0
RIEH S H 100, 000 100, 000 0
BRI S H 100, 000 100, 000 0
HiGIAE S 10, 000 10, 000 0
EEE N 50, 000 50, 000 0
EETHTHE Q) 31,792,000]  29,122,000] 2, 670,000
EETHMESWHEHB)=(1)-(2) 1,878,000] 1,878,000 0
ME(UR| R R FURA G (4) 0 0 0
gl
fm| |EEEEREZH 488, 000 488, 000 0
,g:i RERUHRREXH 323,000 323,000 0
%ttli VI hYz TREXH 165, 000 165, 000 0
IR | rERkEEmE X A 5) 488, 000 488, 000 0
ERREEESIHEE0)=1-0) A488,000]  A488, 000 0




HEBUER - EARR - NEFPHIBESEE (B4I: [)
BEE B rEE | IFEE
po o | TEHAE B
At THeE | PHE
Z x| 2 Ot FEERAG (7) 0 0 0
N
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D| |Y—ERRSEBRASIZH 1, 500, 000 1, 500, 000 0
2| b_cxmammrsn 1,500,000 1,500, 000 0
5:: ZDHDEEIZ HiE (8) 1, 500, 000 1, 500, 000 0
quz TOMDEBEENTEEE (9)=(7)-(8) A1,500,000] A1,500, 000 0
B3
P (10) 0 0 0
SPESWNZEFEE A110, 000 A110, 000 0
(1)=(3)+(6)+(9)-(10)
BIIRZ L ESRES (12) 13, 362,000 13, 362, 000 0
LHRTILESES (11)+(12) 13,252, 000] 13, 252, 000 0
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HEBUEE - ZARE - ZEABUHEL 2 —F% (Bfz - /M)
=T FEE | NFE | L,
A s | pug | TR sl
SHEIA 22,200,000  22,360,000]  A160,000
"}f HERSWA 22 200,000 22,360,000]  A160,000
EEEHINAG (1) 22,200,000  22,360,000]  A160,000
A EXH 15,600,000] 15, 480, 000 120, 000
B A S 6,000,000] 6,000, 000 0
SRS 5K 7,100,000{ 7,100, 000 0
SEEPBERS XM 1,300,000 1,300,000 0
R R 1,200,000 1,080,000 120, 000
EEH L 1,891,000] 1,891,000 0
S T 752, 000 752, 000 0
ORISR 24, 600 24, 600 0
EEREHARTH 498, 400 498, 400 0
EHRERRATH 70,000 70, 000 0
E= FHk 10, 000 10, 000 0
;% R S 100, 000 100, 000 0
I*i’l: R 436, 000 436, 000 0
ElxlEnaxm 4,700,000 4,989,000  A280,000
St farEmea s 45,000 45,000 0
X | mexEmmm 12,000 12,000 0
HERR A X 10,000 10,000 0
EEAEERETE 100, 000 100, 000 0
K RE X 2,820,000  3,100,000]  A280,000
st X 100, 000 100, 000 0
BIEERA R 300, 000 300, 000 0
B 120, 000 120, 000 0
L HEERARH 600, 000 600, 000 0
R S 400, 000 400, 000 0
M 10,000 10,000 0
B 120, 000 120, 000 0
B R 72,000 72,000 0
EEEHEME Q) 22,200,000  22,360,000]  A160,000
EETHASINKEREQ)=1)-©2) 0 0 0
ME(UR| R R FURA G (4) 0 0 0
B
{it[Sz | Re R B il S S 5 (B) 0 0 0
i
% BB HEEERITZELE6)=4)-B) 0 0 0
Ui
B3




HEBUEE - ZARE - BEABUELO 2 —F% (B - )
EER il
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DX FDthDFESZ HE (8) 0 0
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(11)=(3)+(6) +(9) - (10)
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HRIBUER - EARE - EEEUALEAEHEL (B4 : F)
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Bt B PEE | EE | e B 5
A TULE | TELE
ZEBIRA 15, 481, 000 15, 020, 000 461, 000
ll))\l M RZESURA 15, 481, 000 15, 020, 000 461, 000
FEFHRAEA) 15, 481, 000 15, 020, 000 461, 000
A& H 13,917, 000 13, 470, 000 447, 000
IEEREREXE 4,000, 000 4,000, 000 0
FEHBEKREZE 3, 000, 000 3, 000, 000 0
RERB B H 6, 000, 000 6, 000, 000 0
EERMEZ L 917, 000 470, 000 447,000
ERERWN 1, 564, 000 1, 550, 000 14, 000
i EMEEEZ L 20, 000 20, 000 0
& | mmssmss 5,000 5, 000 0
1= BHEM R B X 5,000 5,000 0
g% EIEHEREREH 600, 000 600, 000 0
llil KELBEZ 200, 000 200, 000 0
EEEXH 10, 000 10, 000 0
B EMRE S 344,000 330, 000 14, 000
EBRRTEIE 200, 000 200, 000 0
fR=FH 2 50, 000 50, 000 0
FEHZE 10, 000 10, 000 0
fRI&H 2 100, 000 100, 000 0
EfeH 20,000 20,000 0
FEFBZHE Q) 15, 481, 000 15, 020, 000 461, 000
ELEHASNEEEG)=1)-Q) 0 0 0
R | 2% B e AR AT (4) 0 0 0
%)\
fia[3z | sk 2 il % S i st (5) 0 0 0
l%_ H
LlEsepsacnzzE©)-0-6 0 0 0
i
%
Zix| = it ;ESUR A () 0 0 0
(A
it
D[FZ| = nitbD;ESZ i (8) 0 0 0
[
% ZOMOEHESINEEE Q) =0)-®) 0 0 0
%
F B (10) 0 0 0
LB SINTEEAE 0 0 0
(11)=(3)+(6) +(9) - (10)
HAX AL RS (12) 0 0 0
S E AL (11)+(12) 0 0 0
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IR AK2%E 48, 454, 000M
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HEBUEE - ZAKRE - i BEUHEEI O —T 4 1 —2—FF (B - F)
BT B AEE | WEE |
A e | pam | BHE 3 W
ZESIA 48, 454, 000 47, 399, 000 1, 055, 000
ll))\l X ZEEIRA 48, 454, 000 47,399, 000 1, 055, 000
BEFHIRAG ) 48, 454, 000 417, 399, 000 1, 055, 000
ABHEXH 35, 580, 000 33, 440, 000 2, 140, 000
BB ERESZH 2,920, 000 5,840,000f A2, 920,000
FEHBEKREZE 217, 860, 000 26, 400, 000 1, 460, 000
RERB B H 3,960, 000 0 3, 960, 000
EERMEZ L 840, 000 1,200, 000 A360, 000
FBEEIW 7,160, 000 7, 790, 000 A630, 000
S ok ] 100, 000 100, 000 0
HEREREREXS 500, 000 500, 000 0
BIEEMREZ L 100, 000 100, 000 0
SEEXE 10, 000 10, 000 0
XBETEXLE 100, 000 100, 000 0
R=FH X H 150, 000 150, 000 0
i FEF I 30, 000 30, 000 0
% EfeH 6, 170, 000 6, 800, 000 A630, 000
Eﬁ EHERH 5,714,000 5,619, 000 95, 000
) H tEREEETH 20,000 20, 000 0
llil RERBEXZL 20, 000 20, 000 0
FHERRE X H 150, 000 150, 000 0
EHEREXEH 200, 000 200, 000 0
FRISAE T 50, 000 50, 000 0
KELBEZ L 200, 000 200, 000 0
EEEXH 50, 000 50, 000 0
BIEEMEXZ L 20, 000 20, 000 0
ILRE X E 150, 000 150, 000 0
XBETEXZLE 200, 000 200, 000 0
R=FH X H 70, 000 70, 000 0
FEF I 50, 000 50, 000 0
FRIEF 3 H 30, 000 30, 000 0
EEHZEH 100, 000 100, 000 0
EEE SN ) 4,404, 000 4,309, 000 95, 000
FEEFHIHE Q) 48, 454, 000 46, 849, 000 1, 605, 000
BEFHESMIEER)=(1)-(2) 0 550, 000 A550, 000
R | 2% B e AR AT (4) 0 0 0
A
fim| Sz | e SR B S S ET (B) 0 0 0
i
LlEsepsacnzzn©)-0-6 0 0 0
i
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B B AEE | AIEE — o
Pz FEE | FEm | P
Z|Un| = D ithd FBIRAE (7) 0 0 0
DA
fth
D| |Y—ERRSBEASZH 0 550,000]  A550, 000
2| b_cxmammrsn o  550.,000]  AB50.000
E Z DD EBI HiEH (8) 0 550,000]  A550, 000
B| ZnthDEENE LN EEE (9)=(1)-(8) 0 A550, 000 550, 000
£
FimE X (10) 0 0 0
LPMBESNZEEEE 0 0 0
(11)=(3) +(6) +(9) - (10)
AR X E SRS (12) 0 0 0
LRI ESES (11)+(12) 0 0 0
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HEBUEE - ZALRE - £ FREEEIXIESTE (B4 : /)
rar —
HEHH IR PR | e B @
Al TEE | THE
ZEHSIA 32,903,000 38,273,000 AB5,370,000
"}f MEESUA 32,903,000  38,273,000] A5, 370,000
BEFHINAG (1) 32,903,000/  38,273,000| AS5, 370,000
AEX 27,700,000 31,500, 000| A3, 800,000
B A S 9,000,000] 9,000,000 0
BIER ARSI 16,200,000 18,000, 000] A1, 800, 000
TRERE B 0| 2,000,000 A2, 000,000
AR 2,500,000] 2,500, 000 0
EEEXH 100, 000 100, 000 0
EHS X 100, 000 100, 000 0
EHEXH 5,093,000] 6,663 000] A1,570,000
EFRIE AR 80, 000 80, 000 0
E: R B 38 B S 50, 000 40, 000 10, 000
;% FHERR 2 B X 25, 000 25,000 0
?ZJ EREEREXH 700, 000 940,000|  A240, 000
Ll masmzs 100, 000 300,000|  A200, 000
f}’lﬂj TKGE S B 300, 000 400,000  A100, 000
= | sz 100, 000 100, 000 0
BB E X 500, 000 600,000  A100, 000
IR E S 150, 000 300,000  A150,000
EHERBIM 200, 000 200, 000 0
RPR3H 50, 000 50, 000 0
F RO 31, 000 19, 000 12,000
RRRR 3 10, 000 10,000 0
BEHRH 80, 000 120, 000 40, 000
FER AN X 2,717,000] 3,479,000  A762,000
SHES I 10, 000 10, 000 0
RS % 10, 000 10, 000 0
BEFHTHE Q) 32,903,000/  38,273,000] AS5, 370,000
EEXEFHESIWZEHQ)=()-) 0 0 0
ME(UR| R R FURA G (4) 0 0 0
BA
{it[Sz | Re R B i S 5 (B) 0 0 0
cym
% EREREEESNZEZEH6)=(4)-(5) 0 0 0
1Y
B
M| = oo EEUR A (7) 0 0 0
DA
1th
DX DD FEB I HE (8) 0 0 0
% H
E ZTOMDFHELUIZZEZEE9)=(1-(®) 0 0 0
%
Tl (10)
LHE SN EBEE 0 0 0

(11)=(3) +(6)+(9)- (10)
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HEBUEE - ZARE - £AFZERGIBHSE (Bfz - /M)
B e FEE | BFE | L,
A s | pug | TR sl
SESMA 26,943,000] 26,754, 000 189, 000
"}f HERSWA 26,943,000] 26,754, 000 189, 000
EEEBILAE (1) 26,943,000] 26,754, 000 189, 000
A EXH 21,205,000] 21,050,000 155, 000
B A S 4,350,000] 4, 350,000 0
SRS 5K 14,000, 000| 14, 000, 000 0
SRS 053 500, 000 500, 000 0
R R 2.355,000] 2,200,000 155, 000
EEH L 1,649,000 1,615,000 34,000
e 100, 000 100, 000 0
HEBEESRTH 200, 000 200, 000 0
ENRIB AR 3 600, 000 600, 000 0
EIEERE 300, 000 300, 000 0
SHEXH 10,000 10,000 0
= | gnsaazs 434, 000 400, 000 34,000
,%5 AR 5,000 5, 000 0
?Zj EBELRH 3,360,000] 3,369,000 0
| EnEsmzs 52,000 52, 000 0
DI sz 30, 000 30,000 0
X | memrnm 80, 000 80, 000 0
EEAEERETE 600, 000 600, 000 0
K RE X 500, 000 500, 000 0
st X 50, 000 50, 000 0
BIEERA R 50, 000 50, 000 0
B 900, 000 900, 000 0
*HEREHLH 430, 000 430,000 0
(RSP 3H 360, 000 360, 000 0
R 7,000 7,000 0
(RIS 60, 000 60, 000 0
S 250, 000 250, 000 0
SHES L 120,000 120, 000 0
RS % 120, 000 120, 000 0
EEEBXHE Q) 26,343,000] 26, 154, 000 189, 000
EETHASINKEREQ)=1)-©2) 600, 000 600, 000 0
ME(UR| R R FURA G (4) 0 0 0
B
{it[Sz | Re R B il S S 5 (B) 0 0 0
i
% BB HEEERITZELE6)=4)-B) 0 0 0
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HEEAEE - FAKRE - £EEXEAMEBESSE (B : M)
BERB AKEE | HI
ol N 5
A TEE | FEE

ZFR| = o fthd FEBURAE (7) 0 0 0
I
fth
D| |Y—EXESRBEEASLH 600, 000 600, 000 0
2| b_cxmammrsn 600.000] 600,000 0
5:: T DD ESN K HET (8) 600, 000 600, 000 0
"61 ZOMDFBERINZEEE9)=(7)-©8) A600, 000 A600, 000 0
B3
T EH (10) 0 0 0
LS NEEEAT 0 0 0

(11)=3)+6)+(9)-(10)
KX RSB (12) 0 0 0
LTI ASTRE (11)+(12) 0 0 0




